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Choose the correct option
compulso and ca r equal

For the given attribute marks values:
quartile and third quartile of data.

35,45,50 .55,60,65,7 5 . Identifv the f-rst

35, 50

for fotlowiug questions. All
marks

the questions arl

wuon rJ:

Ootion C: 45,qr__
qplqr D, 15,60

2. OLTP is not
Option A: rational clatabase

tion B: Subject oriented
Option C For ccntiituous updates from many sources
Option D For high read, write update delete activit

1J C'orrectins the customer flat nurnber is
Opiion A: T I chnnse
Optiorr B: f:p. 2 change
Option C: Type 3 chanse
Option D: Type 4 change

4. I" Bunki,E
inappropriate one.

Option A: Accounr
Option B: Branch
Option C: Time
Option D; Tmnsactiorr

5. A contpanl'nould like to improve its sales by analyzing its pilsr data. Which of
the tbllou,ing tasks rvill occupy rnaximum time required for the return on
investment'J

ion A: identifuins st;urces of data
tion B: ETL proccss

Option C data analvsis
Option D preparinu rc1r,;r'ts

6. Suppc;sc *'e have' the fbllowing values r salary (in thousancis of clollars),
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Ql.
1.

Oirtion A:



in increasing order: 30, 36,47, 5A,52, 52, 56,60, 63, j0,70, ll0.
The rnid ranse of data woulC be:

Option A: 5C,000

Ontion B:

Option D:

tion D:

Option D: Spatial data minin

Whrt iiu-te",lrosrrn?
aOption A:

Option B:

Option C:

70,000
tion 77,0A0
tion 52,000

Consider the data iransaction given below:Tl:{F,A,D,B } T2:{D,A,C,EB }
T3: {C,A,B,E} T4:{ts,A,D} With minimurn support : 60o/o and the minimum
confidence : 807o , which of the followrng is not valid association rule?

tion

8. Given the Conftrsion matrx , the accuracy is

Option A: 60%
Option B: l00o/o

Option C: e65%
3s%

Data collection is dcne b crawlr tiro h number of web es in
Data Minin

ion B: Web minin
Text Minin

A tree diagram used to ilitrstrate the arrangement of clusters in parritional
clusteri

Solve any Two out of Three l0 mari<s each

The college wants to record rhe marks for the courses complet"a by students
using the dirriensions: a) Course b) Student c,y Tinle and a measure of Aggregate
marks. Ct cr,te a cube and desciibe following oprrations: i) roll up ii) Drill down
iii) Slice 11,) Dice
Discuss the different steps involvec in data preprcccssir-rs.

Considcr-the foliowing dataset S, which contains obsen'ations of severeri cascs
of sunburn:

At
of hierarchical clustcr
of bar chart Ciagram to visualize K-means clusters.
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7.

A -----> B
Option B: B ----->A
Option C: D -----> A

A -----> D

I

_r
I

I

9.

Option A:

9p!qn!:

r0.

A
Option D:



Sunburned

Annie Sunburned
Sunbumed

Brown Average iHeavv iNo
Brown Short i I-i

Unseen sample X: (brown,tall,average,No> Predict tirel result value as

The table below shows the six data
furd clusters. Use Euctidian distance

points. Apply Agglomerarive clustering to
nleasure. considcr singlc linkagc.

Solve any Two out of Three 10 marks each

lons mm su ,o nun con
TID Date Items purcirased
T 100 2UA1t2A22 {K,A,D,B}

B T200 21t04t2022 {D,A,C,E,B}

T300

T400

22t04t2022

2-r"0,4lnn

{c,A,B"E}

,,,BA"D)

A tlatabase has four transact :600/o and f:90%
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Question 3



Find all the frequent item sets using apriori algorithm and also lisGii the
strong association rules.

Question 4 Solve any Four Questions out of Six 5 marks each

Srhat is web structure mining? List the approachei used to structurc the web
crawlers. Explainpages to improve on the effectiveness of search engines and

e rank technique in detail

lain major issires in data mining.
Differentiate between OLTP arrd OLAP.
Explain web usage mining in detail.
What are the various methods for estimatin classifrers accurac
Use k means algorithm to create 3-clusters fur given set of
values : {2, 3,6,8,9,12,1 5,18,22
What are the various Issues re rdi Classific0tion and Piediction?
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